Dayger Name:
Cellular Respiration
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Name the above structure. / I i \‘L
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2. meaWamundthameomonm lit. b>¢ S
3. Draw a polygon the sugar ' oL M :
4 Whatisleft? ﬁ"’
5. Why is the left over part :mportant‘?
Short Answer
The sphttmg f glugose is called 35‘ § f‘ g This procms occurs
Jnthe acel] This aess y 4
raactwn and (a number @mﬂe {circle
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s\ In anacrobic respiration, glucose is converted first to two molecules of

P\l U w\/\ acid. The hydrogen atoms that come from this compound are
, acoenzyme. This whole process
(c1rcle c—ne} (a number) ATPs. This substance is then broken do into
either to two molecules of \ C BE&Gk two molecules of

n dioxide. When either of these two substances are made,
ircle one).

O {(a#) ATP(s) are
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Dayger Name:
Cellular Respiration

After the items below place the word below which best describes the item.

Al Aerobic respiration
B. Anaerobic respiration
c. Both aerobic and anaerobic respiration

1. oceurs in the mitochondria

2. {  goes on 24 hours a day

3. produces aleohol as an end product ( s

4, produces carbon dioxide as a waste produc? 3 ® W\
i es glucose as a raw material

6. uses enzymes for chemical reactions

7. m\ﬁmﬁm as a product of the reaction

8. c.occurs in animal muscle cells aﬁ%:eriods of examiseQ“c“ c qd a\
9. uses oxygen as a raw material

10. 4\ causes bread dough to rise

11. Y manufactures vast amounts of ATP

12. _uses released ATP

13. _ A water is involved in this set of reactions

14. Qnerg}r storage reaction

15. [ produces ATP in yeast cells

Fill-in’s
Aerobic respiration consists of two phases: one ___andone
. Activation of the glucose molecule uses two molecules of

. Theanaerobic phase of respiration produces ATP while

requiring______ ATP molecules as activators. In the aerobic phase two molecules of
are converted to carbon dioxide, water and

the formation of ___ ATP molecules. This occurs through three different stages; the

first being , the second cycle, and the last

one, chain. The net gain of ATP from the complete

breakdown of glucose is
resulting in the formation of

. The hydrogen acceptor in respiration is
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Date

CHAPTER REVIEW CRAPTER
Know the Terms
Complete the following paragraphs using the list of wards below.
anaerohic chemical energy aerobic FAD
coenzymes NaAD* glycolysis glucase
axygen reduction ATP mitechondria
fermentation Krebs cycle water ADP
chemical bonds oxidation cellular respiration carbon dioxide
All things require 1) to maintain life. This is contained within _{2)_in 1.
nutrient molecules. 1t is released within cells through the process of 2.
13} There are two types of the process. The first requires the =
presence of 4] and is called _(3)_ The second does not require this 3
and is called {8} _ Both of these processes result in the release of -
energy that can be used to change _7)_ into _8)_, which is a i
temporary energy storage molecule,

5.

6.

7.

8.

The organic compound from which cells abtain most of their energy 9, -
is 19 One molecule of this can yield up to 36 molecules of ATP. This 10 R
occurs through a series of reactions involving the transfer of electrons
between atoms. If an atom gains electrons, it is called 100 i it loses 1.
electrons, it is called (31} These reactions are controlled by enzymes. 12.
Working along with these enzymes are {120 which act as hydrogen 13 o
acceptors. Two examples of these, involved with cellular respiration, are
{13} ang 141 L —
The initial step in this entire process involves the splitting of glucose,

This is called {131, This process, followed by the conversion of pyruvic 15.
acid to ethyl alcohol, is called (18], Cells that can use environmental -
oxygen during respiration can extract more energy from the molecules )
and do so by running the end products of the previous process through 7——_—
the 07) which accurs in the (18 in the cell. The products of this 18,
process go to the electron transport chain where more energy is -

extracted. The final end product of this process is A19)
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Glycolysis -

To split glucose into pyruvate, a cell must
first use the energy of two ATP molecules.
What is the net yield of energy-storing
molecules from glyeolysis?
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FIGURE 4.13

Krebs Cycle

Pyruvate change

Prruvate Is transformed into acetyl-
CoA, losing a carbon in the form of
CO,. Acetyl-CoA enters the eyele.

. Pynuvate
NAD CoA
v ;>1<‘; o
O ~Coa
Acety-Coh

Onzloacetic acid

NADH

MAD

Fumaric acid

Suceinic acid

FADH,

FAD

Completing the cycle
A four-carbon compound is recycled
inio a compound that can react with

acetyl-CoA. FADH, and NADH are formed.
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To the electron
transport chain

2 NAD”

Energy extraction
Acetyl-CoA goes
through a series of
reactions that pro-
duce a four carbon
compound, ATP and
NADH.

Citric acid
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